Geometry 4.4-Some Theorems Based on Congruent Triangles 2015-Key.notdbecdmber 03, 2015

Tsosceles Triangle Theorem
Given: AB=BC [Triangle ABC is Isosceles]

Prove: ZA4 = Z [Base Angles are Congruent]
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Converse of the Isosceles Triangle Theorem
B

Given: £4 = Z( [Base Angles are Congruent]
Prove: E = ﬁ [Triangle ABC is Isosceles] A
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3ase Angles Theorem

Two sides of a triangle are congruent
if and only if the angles opposite the
sides are congruent.

Corollary 1.
An equilateral triangle is equiangular. B

Given: 4B = BC = AC [The triangle is equilateral ]

Prove: /4= /B = /Z( [The triangle is equangular.] A C
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Corollary 4:
An equiangular friangle is equilateral. B

Given: ZA= ZB = Z( [The triangle is equiangular ]

Prove: AB=BC = A4AC [The triangle is equilateral ] A C
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Coroliary 2: B
An equilateral triangle has three 60° angles.

Given: AB = B( = AC [The triangle is equilateral ]

A C
Prove: mZA=m/B=m-2C = 60"
Statements Reasons
1 AB=BCz AC Given
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Corollary 3: B
The bisector of the vertex of an isosceles triangle
is perpendicular to the base at its midpoint.

Given: 4B~ BC ,BD bisects /B

Prove: BD 1 AC , Dis the midpoint ofﬁ AL C
Statements Reasons D
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Find the value of x. Justify all answers/equations.

D LBure 6T} (..
- S @ )/ fBase £ 5
@2 s,y T
(= /50




